
Phone: 800.967.8107

WEB: www.truckvault.com

2 Feet ( A )                       

2 Support legs ( B )               

2 Support bar legs ( C )     

1 Support bar  ( D )            

6 L - Brackets ( E )      (040.0212)

12 3/8" x 1" Hex bolts 

12 3/8" x 1 1/4" Fender washer

12 Cannel nuts         (040.02140

2 8mm x 4 1/4" Rear mount bolt

2 5/16 x 1 1/4" Fender washer

4 1/4-20 x 5/8" Hex bolt

4 1/4 x 1" Fender washer

4 1/4" Lock washers 

Congratulations!  You now own the finest secure cargo bed storage system on today's market.  Enjoy the confidence you'll 

experience when traveling with your valuables safely locked in your TruckVault.

Installation Instructions: Materials Included:

Ford Explorer Hanging Vault Install - Police Interceptor

Power Drill

Power impact driver

Small phillips screw driver

7/16" socket/ratchet

9/16" Open end wrench                  

Tools Required:

Personnel Required: Two (2) people

1



Phone: 800.967.8107

WEB: www.truckvault.com

1

2

3

4 Assemble two side legs.  Attach ( E ) Lbracket to ( C ) legs.

5 Assemble two back legs.  Attach ( A ) 5 1/2" to ( B ) 10 1/2"  

with ( E ) Lbracket.

6 Attach ( C ) to ( E ) with the L bracket. Flush with end of the 

support bar.

7 Attach ( A,B ) to ( D ) with ( E ). 

Open the TruckVault drawers just far enough to reach in and unscrew the rubber stoppers and the four screws from the anti break-

in brackets attached to the underside of the top. Now completely remove the drawers and set aside.  To remove drawers with 

slides, pull out far enough to expose the black slide locks on each side.  Lift up on the slide locks and pull the drawer completely 

out.  (Note: not all Truckvault drawers will have anti break-in brackets.)                                                       

Assemble Mounting frame.  See the drawing below to build the mounting frame before placing it in the vehicle.

Slide the channel nuts into the channel from the end or insert them in the middle of the channel and using your thumb; spin the 

channel nut to lock into place.

2



Phone: 800.967.8107

WEB: www.truckvault.com

8

9

10

11

12

13

14

15

Align bracket ( A ) with the holes in the electric access panel holes location ( H ). Use the supplied 5/16" x 1 1/4" fender washers 

and 8mm x 4 1/4" cap bolts. 

Tighten all bolts locations ( H, G ) and replace plastic cover over the bracket location ( F ).

Carefully slide vault onto the support bracket. 

Remove Spare tire cover. Locate the plastic covers on the left/right sides of cargo area behind the wheel wells and remove them by 

pressing down on the top to release tabs ( F ).  Remove existing bolts with 15mm socket ( G ). 

Carefully slide support bracket into the cargo area of your vehicle. Align bracket ( C )  with location ( G ) using factory bolts. Leave 

bolts slightly loose until all bolts are attached.

Reinstall the drawer & anti break-in brackets by reversing the procedure in step 1.  Slide the spare tire cover under the Vault to sit in 

its original position.  Save factory bolts for future use if Truckvault is removed.

Remove Bolts on electric access panel  cover location ( H ).

Attach supplied bolts 1/4" x 5/8" hex bolts 1/4" lock washer and 1/4" x 1" fender washer through the bottom brackets and in the 

threaded inserts into the bottom of the Truckvault. Insert bolts loosely, level vault, then tighten down bolts. Once all bolts have been 

started, finish tightening all bolts.

© TruckVault Inc

3


